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Q Preview Question

= BoaEC 1-1‘& No Limit
OVoleell delail Equation system o
Determine the number of solutions Al alail) lgiaaty Al Jelall aae 2aa
the following system has. . (38 al)
y

asls da

One solution

O odla

| _ O
Two solutions
ol G g Y s

c ) @)
Infinitely many solutions

. da ¢l ot O

No solution

0%



Q, Preview Question

w2y g2l The Substitution

Use substitution to solve the

system of equations.

y=-2x—-3
x+y=9
a. x=-12,y=21

Bl

0%

No Limit

\m




Q, Preview Question

Bl

\m

Wi=Jb DVsleall pUai J> Solve System of Equations Using Elimination

Use elimination to solve the system

of equations:

x+5y=18
3x+5y=4

C. x:7,y:5

0%

reialaal) alS Ja 3 Cidal) ardic
x+5y=18
3x+5y=4

No Limit

o



Q, Preview Question

o pall plaziwl i)l Elimination Using Multiplication

Bl

Use elimination to solve the system

of equations.

3x —4y =-23
2x+3y =13

0%

\m

3x —4y =-23
2x + 3y =13
O
O
O
O

No Limit

o



Q, Preview Question

\m

= BaHEHI No Limit
OWdleall plai Jxddsy yb d.‘b.éi the best method to solve the system of equations. O
Determine the best method to solve Y alaal) allss st E.ef b bl s
the system of equations. 3x+7y=4
3x+7y = 4 Sx—7y=-12
5x —7y =-—12
all aladiul cadal)
) cipal) a . O
Elimination Using Multiplication
) alddials cadall
5 gl aladial '
Elimination Using Subtraction
| alddial cadall
c b‘ﬂ ¢ : O
Elimination Using Addition
2 gail)
. eyl o)
Substitution
i)

0%



Q, Preview Question

= BoEC 1-1‘m No Limit
Sligliall dalhil System Of Inequalities 0
Which of the following system of Jhal B Alee 400N clilidl dds e Lgi
inequalities represents the graph? ?‘._‘,:.L.,..J'.
Ay
e
= -
0 \\i
Y
3x+2y<-3
=y >2 O
2x+3y <3
2x+3y<3
“ y<2 O
2x+3y<3 o

d. }’<2 O

0%



Q, Preview Question

= BoEC 1-1‘m No Limit
39l UlpiS 2 3bg ge> Adding and Subtracting Polynomials 0
Find (x3+2) + (—3x3 - 5). (x34+2)+ (—3x3 —5) 2yl

a. —3x6-3 O
b. —2x3—-3 O
¢ 4x3-3 O
d  2x3+3 O

0%



Q, Preview Question

BoEC ‘ R | Noimi
2> bl wd 393> 5)dS o Multiplying a Polynomial by a Monomial 0
Simplify 5(4x2 + 2x) — x(2x% + x) 5(4x% + 2x) — x(2x?% + x) bl
a. 2x3+19x% — 10x O
b.  —2x3 4+ 19x% + 10x O
¢ —3x3+20x%+10x O
d. 2x3420x2+10x O

0%



Q, Preview Question

Bl

39l UlpiS wpo Multiplying Polynomials

Find the product (2m — 4)(m + 1).

a. 2m?4+2m—4

b. 2m?-2m—4

¢ mi-6m-—4

d 2m?2-2m+4

0%

\m

(2m — 4) (M + 1) qpall g6 s

No Limit

o



Q, Preview Question

Lol upall @ilgi Special Products

Find ( 5x — 6y)?

a.  25x% + 60xy + 36y?

b. 25x% + 36y?

¢ 25x%—36y?

d. 25x% — 60xy + 36y?

Bl

0%

\m

(5% — 6y)2s

No Limit

o



Q, Preview Question

Bl

Jolgsdl (JI poliall Jul=i Factor Polynomials

Factor xy + 5y —x—5

Q

x+50r -1

o

(x+5)y+1)

0

x=5r+1)

Qo

x=-50 -1

0%

\m

Xy +5y—x—5 Jalgadl A Qs

No Limit

o



Q, Preview Question

dg2xdl W Jul=i Factor Trinomials

Factor x2 + 9x + 20

a. (x+10)(x+2)

b. (x+4)(x—15)

¢ (x+4)(x+5)

d (x+20)(x+1)

Bl

0%

\m

algd) ) X2 +9x 4+ 20 s

No Limit

o



Q, Preview Question

2 Yga=Jl SWW Jul=i Factor Trinomials 2

Factor 2x2 +9x—18 =10

a. (2x+3)(x—6)

b.  (2x —3)(x + 6)

¢ 2x-2)x—9)

d  (2x—6)(x +3)

Bl

0%

\m

Jalgadl N 2x24+9x—18=0 Ji

O

No Limit

o



Q, Preview Question

sy ye oo @)l Difference of Square

Factor 5x° — 45x

a. 5x(2x—-3)(2x+3)

b.  5(x% —3)(x% +3)

¢ Sx(x2+3)(x2-3)

d  5x(x2—-9)(x?+9)

Bl

0%

\m

Jalsnl) Y 5x° —45x Jia

No Limit

o



Q, Preview Question

I\slall J> Solve Equations
Solve the equation

a?+ 14a + 49 = 0.

.. a=-49, a=49

¢ a=-7,a=7

Bl

0%

No Limit

\m

o

ddalaal) Ja
a’+14a+49=0

O



Q, Preview Question

BOEC 11 e D ot
ouwll wps olgs Multiplication Properties of Exponents 0
Simplify the expression (—3p>t6)* Byea bl (—3p5t9)t Jss

a. _81p20t24 O
b. _81p9t10 O
C. 81p20t24 O
d. _12p9t10 O

o

0%



Q, Preview Question

Bo@S 11 ‘ R | No Limi
ouwll douns yolg> Division Properties of Exponents 0
0,5..2 045..2
Simplify the expression 61};37' By g oy 61?—t3‘r by
2rt 2rt
a.  4r3vtd O

b.  4rvit8 O
¢ 3rt? O
d.  8rvt? O

0%



Q, Preview Question

duudll Juwll Rational Exponents.

1

Write (7w)z in radical form.

a 7@
b. %m
¢ 7w
d Tw

Bl

0%

\m

1
s Bina b (TW)2 o

No Limit

o



Q, Preview Question

wolsdl 30yl Scientific Notation

| Express 0.000546 in scientific

notation.

a. 54.6 x107°

b. 5.46 x 1073

¢ 5.46x107*

d 546 x 1073

Bl

0%

\m

alall 5150l 0.000546 oo e

No Limit

o



Q, Preview Question

dy 3| yuleil buws Simplifying Radical Expressions

Which expression is equivalent to

oy 5
12

o o »
”|§ -r=-|§| "“‘|§I

o
~[)
=

0%

\ oo o

No Limit

\m

o

ﬁy » - - - &
¢ |24, ) ¢
Ty - (e Al Lulail G )



Q, Preview Question

BaoECT
4y )il Olyusill o> Add Radical Expressions

Simplify the expression

45 + 2120
2. 5

b.  8V5

¢ 10

d  16V10

0%

No Limit

\m

o

et} Jaluy
4+/5 + 220

O



Q, Preview Question

Bo@S 11 | R | No Limi
byl Oljle Conjunction Statements 0
Use the following statements to Aapal) Bylaad) A0S ALY o land) aadi)
write a compound statement for ~qA\~p
~g\~p Al Jab B el il q
q: January is a fall month. Jaid Lags 30 pl:p

p: January has only 30 days

B Uagy 30 Lol ol el Jush b e il

January is a fall month, or January has only 30 days.

Jadd g 30 by e ad) MQAMMJ&@”

January is not a fall month, and January has only 30 days.

Jadd g 30 by cc.n:ual'l(_}.‘a&g&ﬁixh::

January is a fall month, and January has only 30 days.

b Lagy 30 Gad by e dl) Juad B el Gud b
d. January is not a fall month, and January does not have only 30 O
days.

0%



Q, Preview Question

A ~~
=R S
Jrasll Olyle Disjunction Statements

Use the following statements to
write a compound statement for

qv~p .
q: A week has seven days.

p: There are 20 hours in a day.

Aelu 20 4.8 agall o s‘al‘.‘ni dascs dnb &\9.:.\.:4‘31

|m

ASpal) Bylaad) ALlSY ALY ) jluad) andin)

-qV~p
‘alf'l Ao 40d &9“‘)” i q

Aslw 20 ?J:J'l gﬂ :p

O

A week has seven days, or There are 20 hours in a day.

A week has seven days, and there are 20 hours in a day.

Acle 20 4b agd) 3 c‘alffl das d0d g,.mﬁn
C.

A week has seven days, or There aren’t 20 hours in a day.

Al 20 4 agilly call dusus dd Gl s

A week hasn’t seven days, and there are 20 hours in a day.

0%

No Limit

o



Q, Preview Question

|m

ﬁ L° @ ~ No Limit
weSsell The inverse 0
Write the inverse of the following Ads i) §)luall pugSaal) )
conditional statement. Jabs 3l (4 o Ll SUGE aal) oIS 1))
If a number is divisible by 4, then it 2 Ao daudl)
is divisible by 2.
2 Ao dadl) Jud 4B 4 o dacdl) Jui Y aad) oIS 1) O
a
If a number is not divisible by 4, then it is divisible by 2.
" If a number is not divisible by 4, then it is not divisible by 2.
4 e dacdl) L A8 2 o dacdl) LB Y asel) o€ 1Y) O
C
If a number is not divisible by 2, then it is divisible by 4.
A e dacdl) Li Y A0l 2 e dacdl) Juis asall 1€ O
d
If a number is divisible by 2, then it is not divisible by 4.
i)

0%



Q, Preview Question

Bl

|m

wihbiell yuliall Syllogism

Determine which statement follows Ghlaall (e Lihaia 35055 L3 §jleal) 23a
logically from the given statements. .Aaddall
(1)If you do not get enough cagil) o i€l e Juast ol 13)(1)
sleep, then you will be tired. vl it
(2)If you are tired, then you will P (a5 Gl il i 13)(2)
not do well on the test. . okaay)

cagill o cal€acd e Jast al Glild ¢ jLadY) gs laa 355 Al 1Y
a. If you do not do well on the test, then you did not get enough O

sleep.

e hu) e Y O
There is no valid conclusion.

'ﬁ’}."“ Cre S haud = Jaad o8 il ¢ h}

If you are tired, then you will not get enough sleep.

. LAy 9.’3 I a8 A casill (pe il haud e Juaald al 1)
d. If you do not get enough sleep, then you will not do will on the O

test.

0%

No Limit

o



